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(#)DIRESULTS

L. 9% 9% 9 d9d R0 Fufdd § WE 7. gAees I § YaFIeR § -
FBR BT el fddeq Bifcy — (A) WA FATT
(A) THE (B) BRI T=aTg
(B) U (C) BTN yaIE fgad
(C) ¥y (D) wEg
(D) wU®
2. Y§ TR B I P — 8. U fiww s e & -
(A) § oia fgmi § frem €1 @A ¢’
(B) ﬁﬁﬁ@qw@ﬁﬁul B) “="
© ﬁﬂgﬂmﬁﬁmﬂmé| © -
(D) # a3l fagmi @ firer § | D) !
3. 'gom fha ¥ @ Rl 9§ ? 9. fifed fwed & & o+ @ e ¥ yg
(A) IFE ™ (cem) wreE e —
(B) &9 IH (A) RIR
(C) ¥ 3§ (B) AR
(D) ¥ ™| (C) MR
(D) #TR
4. =G o fofy @ - 10. 7 9 eafvat o qof § ot € ?
(A) (A) Fv3Y
(B) BR¥! (B) <4
(©) Togd (C) drer
(D) TE (D) 3y
5. I qM W I UF WA g - 1. frifed § @ fbg 4 fowt @y 76 2 ?
(A) |I d19Y (A) fegavsa
(B) WRIRYT T (B) feaa
(C) s (C) g<PR
(D) B &I (D) ez
6. I T AT T & - 12, fo=dt # wgwm ww @ -
(A) (A) am
(B) ¥ (B) §
(C) 9™ C) &
(D) dUrgm (D) 3t
13. The most rigorous test of liquidity is — 13. ORIl &1 G99 Pl W Bl & —
(A) Current ratio (A) el U
(B) Quick rati(_) ‘ (B) el U
(C) Absolute liquid ratio ©) T’T TR S
(D) All of the above (D) Gq'{i?ﬁ =
14. A brief explanation of the transaction is called — 14. -4 B! e @@ B FEd & —
(A) Summarising (A) SfdreiidRor
(B) Particular (B) famw
(©) Narratim_l (C) WLHT
(D) Information (D) &
15.  Stock turnover ratio is — 15. &Y AGd Jurd g -
(A) Liquidity ratio (A) TR SFUTd
(B) Profitability ratio (B) CTMERIGAT I
. (C) Solvency ratio (C) TN T ST
« (D) Activity ratio (D) frarsh T
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16.  Which of the following is not the technique of ~ 16. = # & 3 & o we faww @
capital structure analysis ? TBID Tol & 7
(A) Trading on equity (A) O R &R
(B) Capital gearing i IRACCAL
(C) Capital budgeting (2) ‘?ﬁgﬂﬁ T
(D) Cast of capital ©) <
(D) il @l &
17.  Receipts and Payment account is a — 17.  wiftd &R ¥ @l @ -
(A) Personal account (A) @feTa @
(B) Real account (B) a’ﬂﬁﬁa; ECI Gl
(C) Nominal account AT
(D) None of these Eg)) = fﬂ?ﬂ'@f
18.  Job costing is used in — 18. SUBR ANTT UGfT TN @Y ST & —
(A) Textile mill (A) Fuel A H
(B) Paper mill (B) TR fid y
(C) Chemical mill (C) T FRar §
(D) Printing press (D) Pfe ¥
19.  The scope of which is wider — 19. fyer &5 2UF Bl § —
(A) Internal control (A) I=aR® T
(B) Internal checking (B) araRe® Fdieror
(C) Internal audit RT3
(D) None of the above Eg)) SR ﬁ?&;’% o
20.  Index cost of acquisition is related to — 20.  SFYIIEYT T AT TG GADIG T € -
(A) Long term capital gain (A) < B ol & q
(B) Short term capital gam (B) m—oh:[ iﬁ% ™ Q}{
(C) Income from Business (C) T A I 3
(D) Income from other sources (D) 3 WA & AW &
21.  Cost of depreciation fund is the — 21. BN PN @ AN ER B —
(A) Explicit cost (A) W® orTd
(B) Opportunity cost (B) ¥aHR @RI
(C) Average cost (©) drea arTd
(D) Equity cost (D) T ST
22. Trading Account is a — 22. QANR @& —
(A) Personal account (A) afdTa @
(B) Real account (B) m Q1T
(C) Nominal account SR
(D) None of the above Eg; i ;E'I:;T e
23.  Under annuity method the amount of  23. qffe fafr & aFia &9 @ Ak -
depreciation is — (A) T a9 § FHE &l B
(A) Fixed for all years (B) ufa % gedt ?
(B) Increasing every year (C) Wi af Eh‘q 2
(C) Decreasing every year S
(D) Fluctuating from year to year D) WX Bl & .
24. If the shares are forfeited, the share capital  24. S af¥lf & &1 fovar T o 39 Yol @ren M
account is debited by — far s -
(A) Face value of shares (A) 3o & aifea 7 q
(B) Paid up value of share :
(C) Called up value of share (B) mﬁﬁg STET Sl g
_/.' (D) Issue price of share Eg)) St o H‘;;q 3
4 RIES
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25.  Which of these accounts show debit balance ?  25. 3= @l & § 31 79 I9 fewm & ?
(A) Machinery account (A) TR @1
(B) Sales account (B) sy @
(C) Capital account <
(D) All of the above Eg)) WP@T?;?[
26.  Which of the following is non-current asset ? 26, A9 PR @ ﬁ?—?ﬂ'ci wfy @ ?
(A) Stock (A) &
(C) Prepaid rent e
(D) Accounts receivable Eg)) m
27.  Copyright is an example of - 27. SRS TP SR § —
(A) Tangible assets (A) T TR &
(B) Intangible assets (B) 3111—& TRy F7
(C) Wasting assets (C) 3ueg TRy Pl
(D) Fictitious assets
(D) ®IAfd TRy &1
28.  On dissolution of a firm, an amount realised ~ 28. & BH & WA W 7 fordt 9=y § a9 7§
from the unrecorded asset is credited to — I B Bfee w0 —
(A) Revaluation account Eﬁ’iﬁm
(B) Realisation account Eg “f’ﬁ s :\:ﬁ Pl
(C) Cash account drs w2
(D) Capital accounts Eg)) ¥t 7
29. A decrease in the provision for bad and  29. Tgqd vd wiew Ful # FH & R wWwY -
doubtful debts results in — (A) IE a™ =
(A) Increase in net profit . —me
(B) Increase in equity (B) T j q% gt
(C) Decrease in net profit (C) Ig ™ T
(D) Both A and B (D) TFi A U@ B
30. Which of the following concept shows 30. f4= § 9 &N & quror oty @ ¥ 9 wiflg
d.ifflerence l?etween amotuélt of receipt and D IR P T7 3R B & 7
right to receive an amount ?
(A) Matching concept (A) P SR
(B) Going concern concept (B) TIe] AW BT ARV
(C) Accrual concept (C) U JEERoT
(D) Realisation concept (D) Tl B FYRON
31.  Sacrificing ratio is calculated in the case of - 31, T U B TUET P AR B -
(A) Retirement of a partner (A) WERR & JqHE T W
(B) Death of a partner (B) WIERER & T W
(C) Insolvency of partner (C) WRRER & feafem a9 ®
(D) Admission of a partner (D) e e
32.  Only Personal and Real Accounts are shown in— 32, @qd FfRETd R aRafdd @ feER 9 § -
(A) Balance sheet (A) e fog A
(B) Trading account (B) &MNR @ H
(C) Profit and Loss account (C) ™ @ @ ¥
(D) Trial balance (D) T ¥
33.  Ifthe net profit earned durgl% the yezi.lr £4 80,030 33.  ofe e 9 & SRM AT aM 2 80,000 € 9 SERT
and debtors have increased during the year : TR o
¥ 15,000, the cash from operationgwill ge - g ?Ag)%:; 3%03055‘ %ﬁr ¥ g B
(4) 2 80,000 (B) Z 65,000
1B S:0a00 (C) % 95,000
(€) 395,000 (D) 2 40,000
(D) 40,000 i
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34. A and B are partners sharing profits in the 34, AIRBUGETHH2:3 BRIG # @M dfed |
ratio of 2 : 3. They admit C for %™ share in AEleR €| 9N F9u™ H Y W & forv ¢ @r
business. The sacrificing ratio of A and B is — T &) A 3R B &7 @ CERIGH R —

) 25 (A) 3:1
(B) 1:4 (B) 1:4
(k3 213 €) 2:3
(D) 1:1 (D) 1:1

35. A person deposits LIC premium of ¥ 10,000.  35. TU% a@fdd T 10,000 FT Te0amgo¥o Nags

He can claim - NI & | T8 ST PGB & —
(A) Deduction U/S 80C (A) &RT 80 C $ ﬁ'{fﬁ aﬁm
(B) Exemption U/S 10 I Be

(C) Both Aand B (B) M8 19 @ : -
(D) None of the above (C) ASRB Eﬁ\f
(D) SWIT # ¥ D13 &

36. Accounting Standards Board of India was 36.  YRAG o@iET AEE URTE @ WAl e a9y

established in which year ? - Es‘ ?

(A) 1970 (A) 1970
(B) 1972 (B) 1972
(©) 1973 (C) 1973
(D) 1977 (D) 1977

37.  Preparation of Final Accounts falls in — 37.  Jf<qw @ 99T AT § —

(A) Book keeping (A) Y& E:

(B) Accounting (B) RICIERE:

(C) Auditing : :

(D) None of the above Eg)) m : -

38.  Which of the following does not come under ~ 38. = # & B JRAUGH @ fwcid 8l A ?
the purview of book-keeping ? A) frim g
(A) Financial transactions (B) aforET
(B) Recording (©) Il
) Py (D) faverwr va ameEn
(D) Analysis and interpretation )

39.  While deciding about the divisible profit  39. | fawrey &™ &1 fFuRw &va wwa =
which of the following facts must be J g 00 @ u9 § W7 Aaead § 7
considered ? (A) e B
(A) Current depreciation (B) SfNe 7
(B) Arrear of depreciation o
(C) Capital profits (C) THIRT oI
(D) All of the above (D) ST w4

40.  Destruction of vouchers by auditor is — 40. 3IPED ENI TR BT T HAT & —

(A) Civil liability (A) <aFl SR
(C) Other liability (C) I M
(D) None of the above : .
(D) SWIH § ¥ FIg Tl
41.  LAN stands for — 41. oF (LAN) ¥ afiwmg 8 -
(A) Large Area Network (A) ot TRAT Head
(B) Local Area Network (B) @ddl TRAT Acad
(C) Long Accurate Network w_c, Jeqa
(D) Lay Access Network Eg)) ST;;TW -
[SET-A] i‘ 19 (202)  indiresult.in whatsapp - 9352018749 Page-4
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42.  If the opening capital is ¥ 1,20,000, drawings 42. Ife IR ‘iﬁﬁ T 1,20,000, HATEVT X 10,000, HA
T 10,000, additional capital ¥ 20,000, closing 7 afalRa l‘iﬁ-’f{ Z 20,000, 3ifcw t‘iaﬁ T 1,80,000
capital ¥ 1,80,000, the profit earned during 2 o 9§ @ SRH FHGT T AN B -
the year will be — (A) 50,000
(A) ¥50,000 (B) Z 52.000
(B) ¥ 52,000 (C) 40,000
(©) ¥40,000 (D) 60,000
(D) % 60,000 ’

43.  When current ratio is 4.5 : 1 and Acid test 43. g Tle] AU 45 : 1 T I WE IFJUIT
ratio is 3 : 1 of inventory is ¥ 12,000. What is 3:1 8| IR WE T 12,000 & oA 1] AN
the amount of current liabilities ? 2 iy 7 2y ?

(4) ¥ 5,000 (A) Z5,000
(B) ¥ 6,000 (B) % 6,000
(C) £7,000 (C) 27,000
(D) 8,000 (D) Z 8,000

44.  Bad debts recovered during the year will be — 44, T B IR EG G ferar Tar areieg F&or BT —
(A) Capital expenditure (A) q\ﬁﬂ'«lﬁ[ g
(B) Revenue expenditure (B) ITTd Y
(C) Capital receipt W‘a
(D) Revenue receipt Eg)) ST ﬁ

45. Which method of costing would you 45. Ts 3 g sa § aw fFw @v@
recommend for a drug manufacturing oaiee ey 31 ey a3t ?
company ?

(A) Unit costing Eg gﬁﬁ
(B) Contract costing

(C) Batch costing (L] $Ip =FR
(D) Operating costing (D) ReTe ST

46. “VED’ analysis method is used when — 46. “VED’ faweror fafey BRG] B 8, 9 —
(A) Machines are used (A) "I BT gAnT BT 8
(B) Materials are used‘:i (B) W &1 WA B 2
(C) Labourers are use sifemi
(D) None of the above Eg)) m?%ﬂg

47. In fund flam analysis, increase in working 47. &Y yarg favowe § sdda ‘i\?ﬁ H ?{ﬁa' g -
capital is — (A) PN T (G GRE
Eg; A sourcle of fund; find (B) BN I Td TN

An application o ] : ;
(C) Both source and application of funds © 2‘; g;@mqg S 2
(D) None of these D)

48. Excess of credit side over the debit side in 48. W’I’cﬁ{ G # AW U W G 9 B IR
Revaluation Account is — g -

(A) Profit (A) M

g; Lo;s (B) =
Debt

(D) Expenses € 7

(D) &3

49. A Company has liabilities of ¥ 38,000 and  49. TS W1 & <@ T 38,000 & AR WH @
owner’s equity of ¥ 1,14,000, then assets of FHAT T 1,14,000 B, 99 HHH B G & —
the company are — (A) 76,000
(A) T76,000 (B) ¥1,52,000
(B) 1,52,000 . (C) Z1,14,000
(€) ¥1,14,000 7 - (D) ¥ 38,000
(D) 38,000 a//’ !N - ‘I.B':E:§ - :I:: c indiresult.in whatsapp - 9352018749
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50. The payment of a liability will — 50. TP Q@ B ‘ﬁ"ﬁﬂ‘l
(A) Increase both assets and liabilities (A) THRml vd it g A qﬁg 2y
(B) Increase assets and decrease liabilities (B) FaRE & qf%' Uq el § w4 anfy
(C) Decrease assets and increase liabilities () Ryl § o9 vd gt q% 2t
(D) Decrease assets and decrease liabilities (D) Rt ¥ w4 vd Tt & B B
51. Return inwards will be shown as a deduction ~ 51.  fI<iRe qUYT TeT@R fGw@RY T & —
from — g
(A) Sales (g) p— _\;}[
(B) Purchases (B)
(C) Returns outwards C) TEIAE
(D) None of the above (D) SIRIT # ¥ DI T8I
52. Cash receipt and cash payments are recorded  52. ¥&¢ yiftqal U9 Adhg qr aFi @ Rers fomar
in — ST 8 —
(A) Cash Book (A) Adhe T8 |
(B) Purchase Book : :
(C) Sales Book (g) ?;;;ﬁa; 3
(D) Journal ED)) : o
53, Which of the following National Park is not ~ 53. {3 # § P9 W V&Y ST ITREwS § 78l 87
situated in Uttarakhand ? (A) FHEE
(A) Corbett (B) I =G|
(B) Nanda Devi (©) Sl
(C) Rajaji S e
(D) Kanha Kisley (D)
54. Lal Bahadur Shastri National Academy of 54, &d TEIR I R TG Srdredr ferd =
Administration is situated — (A) w
(A) Dehradun (B) IRI?'
(B) Mussoorie
(C) Haridwar (©) ERER .
(D) None of the above (D) T 9 BIg TE
55. Which is the folk dance of Uttarakhand ? 55. TIREYS @l AD T PR ?
(A; ﬁoda 1 (A) e
(B umailo B %-q;ﬁ
(C) Laman EC; it
(D) All of the above (D) j P
56. Who is the first woman writer to pen ‘Nanda 56, ‘=1 & WK for@s el wom Afgen oiaer S &2
Ke Jagars’ ? (A) TF=T e
(A) Basanti Bisht .
(B) Prof. Manjula Jugran (B) 0 Hs wﬁi
(C) Dr. Kusum Rani Naithani (C) Sfo TFA I Forh
(D) Radha Maindoli (D) NI HSTell
57. Country : President :: State: ? 57. <w:wgUfd o Weg o ?
(A) Minister (A) #3Ar
(B) Governor (B) CSCIEE
(C) M.P. Arae
(D) Enactory ES)) A
58. is an electronic device that receives  58. % Fodgie feagw & o e R
a signal and retransmits it at a higher level B U N SY I R IR /3IT I U B
and/or higher power. Ryart § gﬁﬂﬂTﬁﬁ FE -
(A) Repeater (A) Ridrer
(B) Modem (B) dred
(C) Router (C) TS
[SET-A] . 19 (202) Page-6
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59. A switching technique that sets up end-to-end  59. U R4 dHI®, W GG UG VoA d T4 UH
communication path between the source and BR ¥ TR BR T% GUE% 9o 1d e & —
the destination is — G e
(A) Message switching (A) Rafit
(B) Packet switching (B) tae
(C) Circuit switching (C) wfwe Raf
(D) Both B and C (D) B @ C 3l
60. Red Data Book gives information about 60. Y3 Srer 9% o Wifwdl & I} § WHEN AT & -
species which are — (A) I &
(A) Extinct e
(B) Endangered (B) §
(C) Dangerous (C) TP &
(D) Rare (D) favent &
61. The combining of multiple signal into a form  61. |WEY AW ¥ TF fid gRT UF B ¥ g
that can be transmitted over a single link of a Hadl a1 GIeT & -
communication medium is called — e
(A) Multicasting (A) : :
(B) Broadcasting (B) drsd E’
(C) Unicasting (C) AT
(D) Multiplexing (D) HeeIei T
62. is a person or group of person who  62. U6 fdd a1 Afdd &1 T & o Seed
have centralized control of the database. @ BLld B AHd Y 2 |
(A) Network Administrator (A) “eTo TSR
(B) Database Administrator (B) SHY TSy
(C) BothAandB (C) AdTBaH
(D) None of the above (D) IWE § F PE 78
63.  There are five boys on a ladder. E is further 63. wwHd diiaaed §|E CATREIBAD Y
up than C but lower than D. B is between E LB EIRCITIILID AINRED
and C, D is between A and E. The boy at the ﬁa§%|ﬁwﬂawml%?’
top is — ’ '
(A) D .
(B) E () 2
(C) A © A
(D) B (D) B
64. In RDBMS, DDL stands for — 64. RDBMS # DDL 2 -
(A) Data Design Language (A) s feomm ofdw
(B) Data Definition Link (B) s St foia
(C) Data Design Link (C) s feum foia
(D) Data Definition Language (D) srer e
65.  What is ‘Hansuli’ ? 65. Egel ®TR7?
(A) Jewellery (A) VR
(B) Folk song (B) @@
(C) Dance (®)
(D) Caste (D) ;{5%
66.  Choose out the odd one ? 66. fawm 1 gy ?
(A) Telescope (A) et
(B) Periscope (B) uRedt
(C) Bioscope (C) vt g
(D) Microphone (D) A
67.  The famous utensil Theki used for preparing  67. SovEve &5 § & WA @ foU wga &9 areh
curd in Uttarakhand is made up of ? F T ah e
(A) Aluminium Tephfr
(B) Steel ° (A)
- (B) ®ra
(C) Wood J ©
(D) Iron ( AR
M!N!DSIBCEE!$F1RIER (D) Fﬂgl
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68. Who was the first Indian woman climbed to 68.
Mount Everest ? P A
(A) Harsha Rawat o (A) gq-i Tad
(B) Dr. Harshv..fantl Bisht (B) <o i e
(C) Bachhendri Pal e
(D) Lata Bisht (©) el
(D) o fae
69. The three words out of the following four 69. f=foRed arR & ¥ &9 & 7 f&f voR &
words are almost same in nature and they T & 3R UF AU AT TE B T g 2|
farm a group. Which one of the following YT G WE AT IA=E?
does not belong to that group ? (A) B
(A) Wood fb_-ﬁﬂ?
(B) Furniture (B)
(C) Stone (€) =R
(D) Paper (D) @I
70.  The region of Uttarakhand fall under seismic 70. %nﬂu 'iﬁ!?ﬁ'ﬂl ¥ IEve &7 fea WF A
zone - Rere & 2
Eg éone {?’ (A) @ IV
one
(C) ZonelVandV (5) $ ¥ .
(D) Zone III (€) VHIVEaV
(D) @ I
71.  Where is situated Uttarakhand Ayurvedic — 71. ‘ScNrEve ddfes fawafdenay oef Remd 8 ?
University ? (A) BRER
(B) Roorkee It m
(C) Harrawala (Dehradun) © ( )
(D) Rishikesh (D) Ffaw
72.  Find the odd one — 72, W 4 R S A N -
(A) Flute (A) zmjfy
% (S}ita_“ (B) RR
uitar
(D) Violen (G firer
(D) I
73.  ‘Bhakar’ is used in rural Uttarakhand for — 73.  WOR & WA THEI ScRgve § BT ST § -
(A) Water Storage (A) T HIEU
(B) Fruit Collection (B) m & W a‘)' m
(C) Foodgrain Storage ©) aE=T B SR @ R
(D) Milk Storage (D) 3 : & for
74.  What is Kanchula Kharak in Uttarakhand ? 74.  IEREEE H rﬁgoﬂ R ¢ —
(A) Breeding and Conservation Centre for (A) FERE FT TAH P T AR B
Musk Deer (B) TH m GG
(B) National Park ©) T TR
(C) AHill ik
(D) A Dam (D) TP 9™
75. In 1988, Independence day was celebrated on 75. 1988 ¥ WoFar feaw B FART TAT T,
Wednesday on which day was it celebrated in 1989 ¥ I f&y fos wamar war o ?
(A) Tuesday
(B) Wednesday (B) 4R
(C) Friday . (©) IPIR
(D) Thursday 2 (D) FEwfear
C‘/ ’ ! ivi ’IﬁtEnsg il E indiresult.in whatsapp - 9352018749
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76. How many Seats are reserved for scheduled  76. QR Swa & ford wog faumrem # faven
tribes in State Assembly ? O arfag € 2
(g) g (A) 3
8 : B) 2
D) None of the above (€ 4 : .
) (D) T ¥ 3 T
77.  Which wild life Sanctuary is situated in 77. fleiRmre fre § @19 91 a9 W9 ARy Red
Pithoragarh district ? g7
(A) Sona River wild life Sanctuary (A) AT 7Y 79 W9 IR
(B) Govind \.wld. life Sanctuary (B) T 7 AT SR
(C) Askot wild life Sanctuary s
(D) None of the above ©) 3 1 PR
(D) T ¥ I T
78. CAZ, DBY, ECX, FDW, ? 78. CAZ, DBY, ECX, FDW, ?
(A) GEV (A) GEV
(B) HEU (B) HEU
(C) GEX (C) GEX
(D) HEV (D) HEV
79.  Vinay walk 5 km south wards then he walk 3 79. fa7g 5 A 3fEor feer § 9o € 99 98 <9
km turning to right Again he turned to his Y 3 fBAL Tl & g7 0 IRl SR geHR
right & walks 5 km. He then turns to his left 5 f5% Toar £ 99 98 auy I TN 5 e
:;lac[it;:lalkziitk;n.Howfarhelsnowfromthe W%M%Wﬁﬁfg’ﬁm@ﬂ%?
A) i (A) 6 f5H
(B) 8km (B) 8 o .
(C) 3km (C) 3 &
(D) 5km (D) 5 feA.
80. In which district of Uttarakhand Tiladi forest ~ 80. ScRMve & fog wHug § A o0 oM
movement was started ? IR g o ?
(A) Pithoragarh (A) fidRrre
(B) Chamoli (B) wHreh
(C) Uttarkashi (C) SeraHh
(D) None of the above (D) T} P &
81. K is X’s brother, Z is X’s son. P who is K’s 8. KW%XW,ZE?{%XW,PG\[KH%W
daughter is married to N. G and X are sister’s. ENUIDZIGAMX WERTEH 2| G &
How is G related to Z ? Z Y ey & ?
(A) Sister
(B) Auntie E’g; E
(C) Mother <
(D) Mother in law ©) #
(D) W
82.  According to the census of 2011, the literacy ~ 82. 2011 @ WU b AR IaRETS Gl
rate of Uttarakhand — HRRAT &% —
(A) 78.53% (A) 78.53 %
(B) 79.63 % (B) 79.63 %
(C) 80.63 % (C) 80.63 %
(D) None of the above (D) 3 ¥ 1% &l
83. Engineer is related to machine in the same 83, IWliffR &1 =™ 99 ¥ & 2 T @@
way as ‘Doctor’ is related to — SIFeR B A ... Y BT B |
(A) Hospital (A) 3T
2 e (B) TR
isease
(D) Medicine Eg)) j;TT
[SET-A] * 19 (202) indiresult.in whatsapp - 9352018749 Page-9



indiresult.in whatsapp - 9352018749 FAaRTH
84. Who said Kausani is a Switzerland of India ? 84. BNIFI P IRT FT Racorevs foe &l ?
(A) Ravindra Nath Tagore (A) e T SR
(C) Mahatma Gandhi TR TP
(D) None of the above Eg)) = ﬁTﬁnﬂ; -
85. If Monday falls on 3™ of a month. What day ~ 85. 3Ife &l #ém @ &9 aii@ @ I9ar & a
will fall 4 days after 21* in that month ? 9 92N P 21 IRNE $ TR feF 91 BN T
(A) Monday f&1 ge ?
(B) Sunday (A) SR
(C) Tuesday (B) TR
(D) Wednesday (c)) :
(D) g8aR
86. Who among the following is known as  86. ‘Ugrel @& ¥HI =1 § & Fgr Wan & ?
‘Queen of Hills’ ? (A) PN
(B) Nainital ©) Fﬂiﬁ
(C) Mussoorie . v
(D) None of the above (D) ¥ ¥ PR T
87. A landmarks of land surrounded by water is  87. IRl 3R ¥ W W [eRT G THA B CheT
known as : T T 2 |
(A) Coast A) WRAC
(B) Island EB; A
(C) Peninsula
(D) None of the above © I,' el
(D) 7 | 3§ e
88.  Which book is written by Haridutt Sharma ? 88. ERaw Wl @ gRT BH W THid fordt ME ?
(A) Badri Mahatya (A) &9 ARG
(B) Gangalahn (B) Trrna—gﬂ
(C) Kedarkhand e
(D) None of the above Eg)) m 3 P T
89.  Wular lake is located — 89. oW oot fRord © —
(A) Rajasthan (A) ORI
(C) Himanchal Pradesh :
. (C) fewrga wewr
D) I & Kashm A
(Y e o (D) T W@ R
90. Kalagarh dam is constructed on river — 90. FHIANTE I foh ¢ W I T R ?
(A) Bhagirathi (A) HrfRef
(B) Ramganga (B) W
(C) Kosi C) Tt
W g ED)) Y
91.  In Which of the following State Black soil is ~ 91. fy=foiiad ¥ & 5w wow § @l e o
found ? S g ?
(A) Gujrat A) TR
(B) Rajasthan EB; TR
(C) Jharkhand ©
(D) None of the above 5 [.I ; .
(D) T ¥ 7§ T
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92.  Which of the following belongs to Parmar  92. {4 & q & | I AR 997 § T=d 2 ?
Dynasty ? (A) WEId W
(A) Mahipat Shah (B) WM E
(B) Shyam Shah © ‘zﬁﬁqﬁ I
(C) Prithvipat shah ¥
(D) All of the above (D) T
93.  Which one is the smallest ocean ? 93. WEY BICT FENTR B9 W1 8 ?
(A) Hind Ocean (A) fé= mErR
(B) Atlantic Ocean (B) m HEMTR
(C) Arctic Ocean (C) IERF TR
(D) Prasant Ocean (D) I FETET
94.  The father of Green Revolution in India ? 94. ¥Rd ¥ ERT FIfG AT PIF & 7
(A) B.L.Chopra (A) & Ta. A
(B) Amarita Patel (B) GﬁﬂﬁT qéa
(C) M. S. Swaminathan e
(D) None of the above E]C))) ;jrﬁqg R
95. Which of the following has the longest 95. 1 ¥ 9 f5aa! ga9 o devar & ?
coastline ? (A) ﬁﬁ(‘ﬂ]ﬁ
(A) Tamilnadu (B) o
(B) Gujrat ©) FeH
(C) Karnataka
(D) Maharastra (D) FERTS
96.  Which one of the following Union Terrilory  96. {9 § § 4Rd & {9 &= wfyd wewr &1 gaq
of India has the smallest area ? 9 9TF & 7
(B) Daman & Diu ]
(C) Lakshadweep (B) 3‘;;3{3 <
(D) Pondicherry 8 aﬁ y
97.  The lines joining the points of equal depth are 97. THM e B e drell YNGR dEawl & —
known as — (A) ITEHRAE
(A) Isohalines (B) EAEEeH
(©) Tsochnes (©) AT
RIESIGI
(D) Isobaths (D)
98.  What is the motto of National service scheme ~ 98. 1T JaT AT (NSS) $T 7Y I RTE ?
(NSS) 2 (A) Tl 3R FFAEA
(A) Unity and Discipline (B) TR @
(B) Be Prepared
(C) Not me but you ([C)) j‘T :‘;ﬁﬁai.r;
(D) Sham No Varunah (D) '
99.  ‘Munari’ is the folk dance of — 99. ﬂ'ﬁﬂ‘ TP Ad Tg 8-
(A) Orissa (A) SerT
(B) Gujrat (B) TR
© Pl_mjab (C) TE
(D) Bihar (D) R
100. Theosophical society was inspired by which  100. PriEfbed daEd b affe 9 ¥ IRT 7
religious Philosophy ? (A) TFM A
(A) Islam (B) 5‘?’"'5‘ Y
(C) Hinduism and Buddhism © fog :
(D) None of these (D) ¥ ¥ BIg T
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T Fad HTHER0 Tev-TFF W R SoR W & faw 3| AR ITR-TEE T FE-gRae | 3
aaifod o 7 T ok 7 & #8 | A v W ford | 78 e v o 1@ AR s fear e @
o W g e a1 e ¥ fierm a1 o il @ gree @ foum @ ware @ pfe: afvia 21 59 TeR @
FRAE T W HOMAS 3% ol T |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

F g o (Rough work) mgﬁawﬁaﬁmmml
Rough work is to be done in the Question booklet only.

T 7T 7 3 IR Y A T e F ITER @ & g 3 eR W UF § e W Ty gt 9 o
T T I fo A1 U9 &7 dfage e B T IwR AMT S0 |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

TRTER : H ehforg el e &1 oed W 41 39 WOR 8

Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? g3t fre war &1 s & 2
(A) Solid mixed with a gas (A) Iy fafdm o
(B) Gas mixed with a gas (B) w ffde
(C)  Liquid mixed with a gas (C) ¥ 77
(D) Gas mixed with a liquid and a solid (D) %9 U4 o fifdm i

e v FTAR §6 W F W I/ Adeq (D) B, o IeR-—T7F A 39 I | el Rvg-awg diem 1T |
M B A $ I DI 39 TR W |

If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

wa fafey T fafy

Correct method Wrong method

OO

(afe Tera fafer & 4 & o et F B8 R o T @ @ WA IR @ 9 R @ Al @ SER T SR A
TV STHT Fafod 3F FOTHD B & )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

F qhenidi @ Rew w9 Q worE & o @ 5 AR 9% 5w we-qRaw § % #9 sua g8 wen et s
TEd et T g9 El qr o8 s 31 < R Tae g Sel A O 99 a3 B gun o 99 |

The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

& ﬁgmwﬁmmwmmwmmmmmﬁmmw
|

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

-

T T F NS 3P BT I 8| TS Teld IR B oY % B BT TR |
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.
2. TS UE 3 AT AR IG TR A R A A 3@ o wawe 3| 39 A Tod IR B AR %30S Pren
SR |
On giving of two or more than two answer for every question, % mark will be deducted.
3. 79 WE-gRaaT § 9 3eHie IR FE SR (Rough Work) & fiRed g8 7 fordh|
Do not write anything except the Roll Number and rough work in this Question booklet.
4. 0T F & TeE OMR HIE B HR B5F 3 WH § AR A dR-dR o8 wdareft oty @1 ademdt s
A TR 7 W o o Prles @t Sueer awRnt|
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate
will carry candidate’s copy and handed over the original copy of OMR Answer Sheet to the Invigilator.

* indiresult.in whatsapp - 9352018749

(#)piResuLTE

r






